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There is 4.5 l of acid in 15 l of the solution ( . . ).15 0 3 4 5× =
When 1 l of water is added, there is now 16 l of solution.
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Apple juice: moles per litre
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Question 8 (50 marks)
Question 8 (a) (i)

Question 8 (a) (ii)

Question 8 (b)

Question 8 (c) (i)

Question 8 (c) (ii)
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pH values: 2 0 2 5 3 0
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pH values: 2.0, 2.5, 3.0, 3.5, 4.0, 4.5.
After five hours the pH value is 4.5.

Arithmetic sequence: 

Geometric sequence: 
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Therefore, the pH value is 8.7 after 13.4 hours.

Question 8 (d) (i)
Or

Question 8 (d) (ii)


